THE UNITED REPUBLIC OF TANZANIA

MINISTRY OF HEALTH, COMMUNITY DEVELOPMENT, GENDER ELDERLY AND CHILDREN



LIGULA REGIONAL REFERRAL HOSPITAL

LOCAL PURCHASE ORDER NO. ME/007/LRRH/2021-22/G/8 LOT 9
SUPPLY AND FIX OF ALLUMINIUM FRAMING FOR CONSTRUCTION EMD, ICU
AND
TWO STAFF HOUSES

JANUARY 2022

Shabani Chibwana Chitembeja, P.O. Box 1241,

Mtwara.

Your quotation reference ME/007/LRRH/2021-22/G/8 LOT 9 dated 17/11/2021 is accepted and you are required to supply the goods as detailed on the attached Schedule of Requirements and Prices.

TERMS AND CONDITIONS OF THIS LOCAL PURCHASE ORDER:

- Contract Sum: The Contract Sum is Tanzania Shillings Seventy Two Million Three Hundred Ninety Three Thousand Only (TZS 72,393,000) VAT inclusive.
- Delivery Period: The goods are to be delivered within Two weeks from the date of this LPO.
- Delivery point: The goods are to be delivered to Ligula Regional Referral Hospital of Po. Box 520, Mtwara.
- 4. Contact Person: Notices, enquiries and documentation should be addressed to Dr. Lobikieki Kissambu *Medical Officer In charge* at Ligula Regional Referral Hospital.

5. Payment to Supplier:

Payment will be made within Thirty days on completion of satisfactory performance of the contract. The following documentation must be supplied for payments to be made:

- An original and two copies of an Invoice;
- A delivery note evidencing dispatch of the goods;
- Acceptance certificate signed by a responsible person or committee for certifying satisfactory completion of the order; and
- Electronic Fiscal Device (EFD) receipt;

SCHEDULE OF MATERIAL

| ITEM | DESCRIPTION OF ITEMS | QTY | UNIT | | RATE | AMOUNT | |
|---------|---|-------------|-------------------|----------|----------------|---------------|--|
| Supply | Supply and fix 100mm Natural Anodized Aluminium framing to pattern; neoprene gasket for | | | | | | |
| beddin | g nylon brusher at the head; and rails and sta | ainless so | rews a | pprove | d by the Pro | ject | |
| Manag | er, including mosquito gauze and 6mm thick | single gla | azed gla | ass (eit | ther clear or | frosted | |
| glass a | s shall be determined by the location usage) | bedding | in app | roved o | compound a | nd fixing to | |
| concre | te background; including all necessary acces | sories, ir | onmon | gery, c | utting and pi | nning lugs | |
| and be | dding frame in cement mortar | | | | | | |
| | Window size 1600 x 1250mm overall | 24 | 24 No | | 400,000 | 9,600,000 | |
| 1 | height | 24 | 140 | | 400,000 | 3,000,000 | |
| | Window size 1200 x 1500mm overall | 12 | No | | 400,000 | 4,800,000 | |
| 2 | height | 12 | INC | | 400,000 | | |
| 3 | Window size 900 x 900mm overall height | 6 | No | | 250,000 | 1,500,000 | |
| | Window size 1800 x 1200mm overall | 40 | NI- | | 450,000 | 8,100,000 | |
| 4 | height | ht 18 No | | 450,000 | | 0,100,000 | |
| | Window size 2400 x 1500mm overall | 1 | No | | 750,000 | 750,000 | |
| 5 | height | | IN | | 730,000 | 750,000 | |
| Glazin | g | | | | | | |
| 5mm 7 | Thick polished clear plate glass | | | | | | |
| | Panes over 0.10 but not exceeding 0.50 s | square | 32 M ² | | 56,000 | 1,792,000 | |
| 6 | metres | | | | 00,000 | | |
| WIND | | | | | | | |
| Supply | and fix 100mm Natural Anodized Aluminium | framing | to patte | ern; ne | oprene gask | ket for | |
| beddir | ng nylon brusher at the head; and rails and st | ainless s | crews a | approve | ed by the Pro | oject | |
| Manag | ger, including mosquito gauze and 6mm thick | single gl | azed g | lass (ei | ither clear or | rfrosted | |
| glass | as shall be determined by the location usage) | ; bedding | g in app | proved | compound a | and fixing to | |
| concre | ete background; including all necessary acces | ssories, ir | ronmon | gery, c | cutting and p | inning lugs | |
| and be | edding frame in cement mortar | | | | | | |
| 7 | Window size 1800 x 1800mm overall heigh | ght | 34 | No | 600,000 | 20,400,000 | |
| 8 | Window size 900 x 1500mm overall heigh | ht | 6 | No | 350,000 | 2,100,000 | |
| 9 | Window size 900 x 900mm overall height | t | 6 | No | 250,000 | 1,500,000 | |
| 10 | Window size 1200 x 900mm overall heigh | ht | 1 | No | 300,000 | 300,000 | |

| 11 | Window size 1200 x 1800mm overall height | 5 | No | 450,000 | 2,250,000 |
|--------------|---|----------|--------|-------------|------------|
| 12 | 800 x 2100mm high | 3 | Pcs | 350,000 | 1,050,000 |
| WINDO | N | | | | |
| Supply a | and fix Aluminum Windows 2mm thick frame with fit | erglass, | Mosqui | to gauze an | d its |
| ironmon | geries. | | | | |
| 13 | 1500 X 1500mm high | 18 | Pcs | 450,000 | 8,100,000 |
| 14 | 600 X 600mm high | 6 | Pcs | 150,000 | 900,000 |
| TOTAL AMOUNT | | | | | 61,350,000 |
| Add VAT 18% | | | | | 11,043,000 |
| GRAND TOTAL | | | | | |

| For Purchaser: |
|--|
| For Purchaser: LIGULA REGIONAL REFERRAL HOSPITAL Signature: MT. WARA |
| Name: LOBINGER MISIAMBU |
| Designation MEDICAL OFFICER NUMBRICE |
| Date: 14/01/2022 |

| For Supplier: | |
|---------------|----------------------|
| | 1 Sombu |
| Signature: | (E) mhu |
| 0 | , 1, 1, |
| Name That | bom Chibwan chitery. |
| | |
| | Direnoi. |
| Designation: | |
| 12 | 1/01/2022 |
| Date: | 1-11-10-00 |
| | |
| 118W | ANA CHITE |

P. O. Box 1140 TIN: 104-064-922

* MTWARA *